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QUESTION 1

Which interpretation is correct for the Correlations table\\'?

Correlations
Vard \ar2 Vard Ward

Var1 Pearson Carrelation 1 .ag8” 388" B7a”

Sig. (2-tailed) oo 000 0oo

M 2810 2080 2428 1458
Var2  Pearson Correlation 388" 1 652" 388"

Sig. (2-tailed) 000 00D .0oo

M 2090 2080 1977 11649
Ward  Pearson Correlation 368" Bh2" 1 3617

Sig. (2-tailed) 000 00 000

M 2428 1977 2429 1285
Ward  Pearson Gorrelation 5727 388" 3617 i

Sig. (2-1ailed) 000 aon 000

M 1458 1169 1295 1458

**, Correlation is significant at the 0.01 level (2-tailed).

A. All of these correlations are statistically significant and the strongest correlation is between the Van and Var4.

B. All of these correlations are statistically significant and the strongest correlation is between the Van2 and Var3.
C. None of these correlations are statistically significant but the strongest correlation is between the Van and Var4.
D. None of these correlations are statistically significant but the strongest correlation is between the Var2 and Var3.

Correct Answer: B

QUESTION 2

In order to access the New Custom Attribute feature in the Data Editor, the Data Editor must be viewed from the:
A. Value Labels button.

B. Dialog Recall button.

C. Variable View tab.

D. Data View tab.

Correct Answer: C
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QUESTION 3

Consider the data filebelow and answer the following: The calculation of the mean of the variables X, Y, Z is contained
in the variable Av_XYZ. What method was used to calculate the mean?

& *Untitled3 [DataSet4] - PASW Statistics Data Ed... [= |[B|[X]

Eile Edt View Date Transfor Analyznn Graph: Utiities Add-on YWindov Help
EHE [ & E i A fd SEE
h:z 400 |Visile: 4 of 4 Varisbles
X Y z | Avxvz |
1 | 400 100 400 300(]
2 1.00 m
3 400 200 3.00 300
4 | 5.00 j 6.00 550
8 | 6.00 12.00 7.00 833 =
K = DN

Data View | Variabe View | -
' PASW Statistics Processor is ready | | |

A. The Compute Variable dialog and the expression (X+Y+Z) 13

B. The Compute Variabledialog and the expression X+Y+Z/3
C. The Compute Variable dialog and the expression MEAN(X, Y, Z)
D. The Compute Variable dialog and the expression MEAN.2(X, Y, Z)

Correct Answer: D

QUESTION 4
Consider two variables, my_income and my_spouses_income, in the dataset below. You created a third variable,

total_income using the Compute Variable dialog and the following expression: total_income = my_income +
my_spouses_income. True or false: the value for the 3rd case will be a system-missing value.

C2090-011 PDF Dumps | C2090-011 VCE Dumps | C2090-011 Practice Test 3/4


https://www.leads4pass.com/c2090-011.html
https://www.leads4pass.com/c2090-011.html
https://www.leads4pass.com/c2090-011.html

https://lwww.leads4pass.com/c2090-011.html

Leads4 Pass 2024 Latest leads4pass C2090-011 PDF and VCE dumps Download

<= *Untitled3 [DataSet4] - PASW Statistics Data Editor ]ﬁ||-_|®

File Edit Yiew [Data Traensfon Analyze Graph:s LRiities Add-om YWindow Help

@E%Eh# ﬁ@"“#ﬁl[ﬁi =N =1

'S my_spouses_income | Visible: 2 of 2 Varisbles
my_income | my_spouses_income |
1 25000.00 42000.00 F
2 42000.00 28000.00 [~
3 75000.00 : E

L T g T —

| PASW Statistics Processar is ready !

A. True
B. False

Correct Answer: A

QUESTION 5

There are two major types of errors one can make when attempting to draw conclusions about the larger population
based on the information collected in the sample. For example, when performing an Independent Samples T-Test, one
type of error that can occur is when there are significant differences between the groups based on a scale level
dependent variable, but the test fails to detect them. Which of the following choices describe this sort of error? (Choose
two.)

A. Type i error

B. Type ii error

C. False negative

D. False positive

Correct Answer: BC
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